Skévde BA
Onsdag 24 Br HCP 2021-09-01

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 8 183.0 63.53  Mattias Axner - Ingvar Akesson 63678 86475 Skovde BA
2 3 155.3 53.92  Agneta Johansson - Lars-Ove Larsén 43365 56798  Skovde BA
3 5 152.7 53.03  Bengt Franzén - Ingan Bergstrém 40074 40059  Skovde BA
4 10 151.3 52.52  Nina Bodforss - Eva Mellbring 48986 86470 Skovde BA
5 11 150.7 52.34  Anders Brodin - Lilian Helgeson 18577 86915 Stenstorps BK - Skévde BA
6 1 149.4 51.89  Arnold Ivansson - Claes Stymne 7721 88217  Stenstorps BK - Skévde BA
7 12 148.7 51.62 David Johansson - Inge Wilsson 40062 43366 Skovde BA
8 4 147.8 51.30 Mia Kjellgren - Maria Térnblad 26451 84547  Skovde BA
9 9 146.0 50.70  Sven Lindell - Olle Gustavsson 3591 11085  Tibro BK
10 7 143.3 49.75  Bjorn Gaarder - Ruth Bergléw 23977 38621 Skovde BA
11 6 137.1 47.62  Per-Olov Ek - Jan Andersson 59352 32029  Skdvde BA
12 13 132.8 46.12  Roland Andersson - Per-Olof Fritzon 89024 34274  Skdvde BA
13 14 127.2 44.16  Hakan Gustafsson - Sanny Syberfeldt 14554 40054  Skovde BA
14 2 90.7 31.50 Ceve Eldh - Bjorn Spetz 4244 63679  Skovde BA
1 4E85 Basta kontrakt 2 4 K10752 Basta kontrakt 3 49 Basta kontrakt
Nord vD3 5NT N =460 Ost v6 44 S =620 Syd v EKDKn95 44 S =420
Ingen ¢ ED952 NS + K8 ov + K8
#E53 & ¢ v & NT #ED874 & ¢ v & NT #D842 & ¢ v & NT
4962 4« Kn104 N 9 10101111 4DKn8 4E6 N9 6 9 107 475 « D6 N6 5 9 105
v 1082 v EK95 S 9 10101111 vD83 vE52 S 96 9 107 v1043 v872 S 6 5 8 105
84 ¢ Kn1063 042322 ¢D542 ¢Kn10973 O 4 7 4 3 6 ¢+Kn52 ¢ ED973 06 6 000
#Kn9764 #102 V42322 #K109 %652 V47436 #K7653 #E109 V66000
4 KD73 4943 & EKKn108432
vKn764 v KKn10974 v6
+ K7 +E6 + 1064
«KD8 #Kn3 #Kn
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
9 10 3NN+4 ¢5 520 120 00|12 7 44 N= +J 620 120 00| 1 8 44 S+2 &5 480 100 20
8 14 3NN+3 ¢J 490 100 20| 2 5 3vS= ¢4 140 90 30| 3 6 44 S+2 &3 480 100 20
3 11 3NN+2 vA 460 60 60| 4 6 2vS+1 &A 140 9.0 30| 9 14 44 S+2 &3 480 100 2.0
12 7 3NN+2 v5 460 6.0 60| 3 11 2vS= 4Q 110 50 7.0|10 11 44 S+1 T 450 50 7.0
13 1 3NN+2 vA 460 6.0 60| 8 14 2v S= «Q 110 50 70|13 2 44 S+1 &3 450 50 7.0
4 6 3NN+1 vA 430 20 100| 9 10 44 N-1 v2 -100 20 100| 5 7 44 S= €2 420 2.0 10.0
2 5 3¢ N+2 vA 150 00 12013 1 4vS-2 9 -200 0.0 120| 4 12 6NDN-1 &A -100 0.0 12.0
4 43 Bésta kontrakt 5 & K109 Bésta kontrakt 6 & KD7 Bésta kontrakt
Vast v53 5¢v N =650 Nord v32 4y O D -1 100 Ost v EDKn96 3v SD-1-100
Alla + EKn986 NS + E10954 ov + 103
#D7632 & ¢ v & NT #D93 & ¢ v & NT #D93 & ¢ v & NT
4D1084 & EK9752 N 108 114 7 o E 4 Kn642 N9 6 498 410842 #E53 N4 4866
vKn62 8 S 108 115 7 vK1095 v DKn864 S 964938 v 753 v8 S 44866
¢ D543  ¢1072 025284 4762 ¢+ KD83 0369 32 ¢D64 ¢ EKn952 09 9575
*K10 #Kn98 V25228414 #108765 #- V36932 *764 #EKKn5 V99575
4 Kn6 4 D8753 & Kn96
v EKD10974 vE7 v K1042
+K +Kn + K87
#E54 #EKKn42 #1082
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 12 4v S+2 4Q 680 120 00| 4 7 44 S+1 ¥5 650 120 00| 4 7 3v N= A 140 8.0 4.0
3 6 4vS+1 4Q 650 100 20|14 10 44 S= v9 620 100 20| 5 1 3vyN= ¢A 140 8.0 40
10 11 4v S= 48 620 70 50| 5 1 24S+1 9 140 70 50|11 12 2¢v N+1 &A 140 8.0 4.0
13 2 4v S= 4 620 70 50| 6 8 24S+1 v9 140 70 50|13 3 2y N+1 &A 140 8.0 4.0
1 8 44 0-2 vA 200 40 80|11 12 44 S-1 v9 -100 30 90|14 10 2v N+1 #A 140 80 40
5 7 44 0-1 vA 100 10 11.0|13 3 2#S-1 *7 -100 30 90| 6 8 340-1 vK 100 2.0 10.0
9 14 44 0-1 vK 100 10 110| 2 9 44#S-3 v5 -300 00 120 2 9 3vN-1 *K -50 0.0 12.0
7 « EK10 Bésta kontrakt 8 » E65 Basta kontrakt 9 »108 Basta kontrakt
Syd v K10974 64 V D -1 200 Vast v KKn108 6NT N =990 Nord vEKD76 6NT N =990
Alla + D43 Ingen + D83 ov + EK87
«D4 & ¢ v & NT #K105 & ¢ v & NT «D10 & ¢ v & NT
49 4 Kn3 NO 2 11112 4 DKn1097 443 N 1212109 12 4 K932 a74 N 1211121212
vKn v 853 S 0 2 11110 v9 vD765432 S 1212101012 v 932 v Kn1085 S 1211121212
+ EKn98765 ¢ K10 O 11101 1 1 + K1054 +6 011331 +Kn9532 +64 012111
#Kn953 #EK10872 V 11101 1 1 «D94 #873 V11331 9 #Kn7432 viz2i1l111
4 D876542 K82 « EDKn65
v ED62 vE va
2 ¢ EKn972 + D10
*6 #EKn62 »EK865
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
12 1 44 S+2 v 680 11.0 10| 6 2 3NN+2 &7 460 110 10| 1 2 B6NS= 42 990 11.0 1.0
13 4 464 S+2 v 680 11.0 10|13 4 3NN+2 v7 460 11.0 10| 4 11 6NS= ¢5 990 11.0 10
3 10 4vy N+1 &A 650 70 50| 3 10 3NN= v2 400 60 60| 6 9 3NS+3 42 490 6.0 6.0
6 2 4vy N+1 &A 650 70 50| 7 9 54N= ¢6 400 6.0 6.0 7 3 3NN+3 &2 490 6.0 6.0
14 11 34 N+3 vJ 230 40 80(12 1 3NN= 44 400 6.0 60| 8 10 BNN+3 &7 490 6.0 6.0
7 9 5¢V-1 A 100 20 100 5 8 B6NN-2 v4 -100 1.0 11.0|12 14 3NS+2 +2 460 1.0 11.0
5 8 540+2 ¢2 -640 0.0 120|124 11 6¢ S-2 4Q -100 10 11.0|13 5 3NN+2 &2 460 1.0 11.0
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10 453 Basta kontrakt 11 4 E107 Basta kontrakt 12 4 KD10 Basta kontrakt
Ost v8 44 S =130 Syd v Kn10874 4v N =420 Vast v D10932 54 N =650
Alla + DKn953 Ingen .- NS + 1084
+K10754 & ¢ v & NT *K9864 & ¢ v & NT *E2 & ¢ v & NT
210764 #K9 N 106 4 7 5 |4D85 4932 N 8 4 108 9 4Kn75 4842 N7 7 11119
vKD63 ¥Knl0954 S 106 4 7 5 |(v9 vE632 S84989 vKn54 vE S 7 7 11119
+10842 ¢ EK6 O3 6 95 8 |¢+EKN1075432 +9 058344 ¢ KKn62 ¢ D753 06 6 2 22
*6 #ED8 V36958 [&D #EKN1032 V 5 8 3 4 4 #1095 #DKn764 V66222
& EDKn82 4 KKn64 « E963
vE72 v KD5 v K876
*7 + KD86 ¢+ E9
#Kn932 *75 *K83
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 10 24 S= 6 110 120 00| 5 12 440-5 ¢6 250 120 00| 1 14 4vS+1 v4 650 9.0 3.0
6 9 24S-1 *6 -100 100 20| 2 3 2¢yN+1 +9 140 90 30| 5 12 4vS+1 46 650 9.0 3.0
1 2 INO+2 3 -150 50 70| 8 4 2vyN+1 9 140 90 30| 7 10 4vN+1 &4 650 9.0 3.0
4 11 INO+2 4 -150 50 70| 9 11 1sS-= v9 80 50 70| 8 4 4vS+1 &T 650 9.0 3.0
7 3 INO+2 a2 -150 50 70|13 6 14 S= 2 80 50 70| 2 3 4vS= 5 620 2.0 10.0
13 5 INO+2 &2 -150 50 70| 1 14 4e V-1 s A 50 20 100| 9 11 4v N= ¢4 620 2.0 10.0
12 14 INO+3 &J -180 0.0 120| 7 10 4v N-2 +9 -100 00 120|13 6 4vS-= ¢6 620 2.0 10.0
13 & EK32 Bésta kontrakt 14 4 ED10 Bésta kontrakt 15 » EK87 Bésta kontrakt
Nord v E65 2¢ O =-90 Ost v Kn10632 24 S =110 Syd v D9652 3v S =140
Alla + KKn86 Ingen + K5 NS ¢ EKn
+D10 & ¢ v & NT #KDKn & ¢ v & NT #98 & ¢ v & NT
& D97 « 1084 N55765 472 » 9864 N8 6 6 87 «Kn654 & 1093 N66 977
vKD9  vKn2 S55765 vKD97  vE85 S 86687 v 843 vE10 S669 77
¢+ D5 ¢E107432 O 7 8 6 6 7 ¢ E10982 +¢63 046656 ¢ D1097 ¢ K83 06 6 455
#E£9865 #K2 V88667 *65 #E1072 V46656 #EK #107652 V66455
4 Kn65 # KKn53 « D2
v 108743 v4a v KKn7
+9 ¢ DKn74 ¢ 6542
*Kn743 #9843 #DKn43
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
10 12 3¢ V-2 v7 200 120 00| 8 11 INN+2 49 150 120 00| 9 12 INS+3 #A 180 120 0.0
3 4 2vyN= ¢A 110 90 30| 3 4 INN+1 9 120 80 40| 4 5 2vN+1 T 140 100 20
14 2 2vyN= 8 110 90 30| 6 1 INN+1 49 120 80 40| 7 2 2vyN= 2 110 70 5.0
13 7 INN= 2 90 6.0 60| 9 5 INN+1 #2 120 80 40|13 8 2vyN= +2 110 70 5.0
8 11 INN-1 +3 -100 30 90|14 2 INN= 46 90 40 80(10 6 INS= +9 90 30 9.0
9 5 2vS-1 *A -100 30 90|13 7 24S-1 *5 -50 20 10.0|14 3 INS= +9 90 30 9.0
6 1 2vN-2 a4 -200 0.0 120|110 12 3NN-2 &7 -100 00 12011 1 INS-1 9 -100 0.0 12.0
16 4543 Basta kontrakt 17 4« Knl0 Basta kontrakt 18 4 D653 Basta kontrakt
Vast v 109 44 N D -3-500 Nord v Kn972 6 O =-920 Ost v83 64 O =-980
oV + D2 Ingen + E1084 NS ¢ DKn52
#1097543 & ¢ v & NT »D108 & ¢ v & NT #Kn32 & ¢ v & NT
476 «D10 N75273 «KD92 4ES85 NO 4423 ~E842 4 K1097 N4 4212
vDKn86543 v EK7 S75273 v- v EK1054 S14423 vK vED10762 S 3 3 2 1 2
+83 ¢ EK974 O 6 8 104 6 ¢ K9732 46 0 129 9 1110 ¢ EK763 ¢ - 09 8 111210
*D6 #KKn2 V 6 8 104 6 K974  #EKN53 vV 129 9 1110 *K75 *864 vV 9 8 111210
» EKKNn982 #7643 aKn
v2 v D863 v Kn954
+ Kn1065 ¢ DKn5 + 10984
»E8 *62 #ED109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 55v0-1 «T 100 120 00| 4 14 24 0+3 &7 -150 120 00| 4 14 44 V-1 v8 50 8.0 4.0
7 2 4y V= +Q -620 50 7.0[|11 7 2NO+2 &7 -180 100 20| 5 6 440-1 v8 50 8.0 4.0
9 12 4v V= »T -620 50 70|12 2 4v0O= +5 -420 80 40| 8 3 4eV- v8 50 8.0 4.0
10 6 4v V= *7 -620 50 70| 5 6 3NV+1l ¢4 -430 50 70|10 1 4eV-1 +5 50 8.0 4.0
11 1 4v V= &T -620 50 70| 8 3 3NV+l &8 -430 50 70|12 2 4eV-1 v8 50 8.0 4.0
13 8 4v V= 43 -620 50 70|10 1 3NV+2 ¢4 -460 20 10011 7 4aV= »2 -420 1.0 11.0
14 3 4v V= 45 -620 50 70|13 9 620= +J -920 0.0 12013 9 4e V= *2 -420 1.0 11.0
19 « KD653 Bésta kontrakt 20 & E9652 Bésta kontrakt 21 a2 Bésta kontrakt
Syd vE1053 4¢ S =130 Vast v K743 24 N =110 Nord v KD94 54 O D -3500
oV + K9 Alla ¢ EK NS + Kn864
#43 & ¢ v & NT #Kn9 & ¢ v & NT #EKn82 & ¢ v o NT
410874 4E92 N 6 105 6 8 « KD « Kn103 N6 47 86 +ED6 4K109874 N 7 118 5 6
vD4 vKKn9762 S 6 105 6 8 vED v 10985 S6 4786 vKn7 vE1053 S 7 118 5 6
¢ 87 +D3 073874 ¢ Kn86543 ¢ D2 06 86 57 +73 ¢+ D5 06 2585
#EK762 #DKn V73874 «D107 #E543 V78657 #K76543 49 V62585
«Kn 4874 # Kn53
v8 v Kn62 v 862
¢ EKn106542 ¢ 1097 ¢ EK1092
10985 *K862 «D10
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 14 3vO-2 s 200 100 20| 6 7 24 N= +Q 110 11.0 10|14 6 3¢ S+2 4A 150 120 0.0
9 4 3v0-2 aJ 200 100 20|11 2 24 N-= ¢+Q 110 110 10| 7 8 340-1 ¢ A 50 100 20
11 2 3v0O-2 s 200 100 20| 5 14 14 S= +Q 80 80 40| 1 9 Pass 6.0 6.0
1 3 3¢48S-= A 110 60 60 9 4 24N-1 +Q -100 50 70|12 3 Pass 6.0 6.0
6 7 4v0-1 aJ 100 30 90|13 10 1a N-1 ¢+ Q -100 50 7.0(13 11 Pass 6.0 6.0
12 8 3vO-1 ¢A 100 30 90| 1 3 2¢V+1l v4 -110 20 100(10 5 24 0= *K -110 2.0 10.0
13 10 3NN-2 v2 -100 00 120(12 8 2NO= 48 -120 0.0 120 2 4 24 O+1 +A -140 0.0 12.0
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22 4 ED108 Basta kontrakt 23 4 E10976 Basta kontrakt 24 4643 Basta kontrakt
Ost v KD3 2¢ O =-90 Syd v D10632 5v S =650 Vast v E863 2NTV =-120
ov 49753 Alla +10 Ingen 4983
&73 & ¢ v & NT &E3 & ¢ v & NT #Kn62 L Y
4Kn943 &K2 N7 5575 & KD4 & Kn3 N 6 5 10108 sE & K109875 N3 6 55
v 975 v EKn108 S755765 v 85 v Kn4 S 6 5 11108 v 754 v D92 S3655
¢+ KKn6 410842 O6 87 67 + KKn854 ¢ D92 O7 8234 +KD102 ¢7 09778
&E95 &D42 V57756 &K97 &#Knl08642 V 7 8 2 3 4 &#EK1094 &D87 V96 78
4765 4852 & DKn2
v 642 v EK97 v KKn10
¢ ED + E763 + EKn654
#KKn1086 D5 &53
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 24 N= &2 110 120 00| 1 4 4v S+1 v8 650 100 20|11 6 44 0O-2 vT 100 11.0
1 9 2v0-1 ¢A 100 1000 20|11 6 4v S+1 4K 650 100 20|13 12 44 O-2 vT 100 11.0
2 4 Pass 70 50|14 7 4vS+1 a4 650 100 20| 8 9 44 0-1 &5 50 8.0
13 11 Pass 70 50|13 12 4v S= +8 620 6.0 6.0 3 5 3aV+l +3 -130 6.0
10 5 2#S-1 +6 -50 30 90| 2 10 2y N+3 4K 200 30 90| 1 4 340-= &5 -140 4.0
14 6 24 N-1 *4 -50 30 90| 3 5 3vsS+2 &7 200 30 90| 2 10 2NV +2 +3 -180 2.0
7 8 34 N-2 vT -100 0.0 120 8 9 INS+2 v8 150 0.0 120|14 7 44 O+l &5 -450 0.0
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